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Success Criteria

Aim
• I can add and subtract numbers using a formal written method.

• I can add and subtract numbers with decimals.

• I can add and subtract increasingly larger numbers.

• I can use a formal written method.
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Which Method?

Give an example of
an addition, subtraction, 

multiplication or
division calculation that 
you would work out in 

your head.

Give an example of an 
addition, subtraction, 

multiplication or division 
calculation that you would 

work out on a piece
of paper.

Explain your 
choice.
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We can use a formal written method to add or subtract numbers.
We are going to look at column addition and column subtraction.

Building Blocks 1

To work this out, we can 
use the written method 

of column addition.

First place the digits into 
the correct place value 

column. 

35 459.1 + 54 352.3 = 
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Building Blocks 1

Next, look at the column 
with the lowest value. 

This is the tenths column. 

Add together the 
numbers. 

1 tenth + 3 tenths
= 4 tenths 

Place the 4 tenths in the 
answer section. 

35 459.1 + 54 352.3 = 
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Building Blocks 1

Next, look at the next 
column with the lowest 
value. This is the ones 

column. 

Add together the numbers. 

9 ones + 2 ones =
11 ones = 

Regroup the 11 ones into 1 
ten and 1 one. 

35 459.1 + 54 352.3 = 

Place the 1 one in the 
answer section and show 

the regrouped 1 ten by 
placing a 1 under the tens 

column. 
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Building Blocks 1

Next, look at the next  
column with the lowest 
value. This is the tens 

column. 

Add together the numbers, 
not forgetting the 1 ten 

that was regrouped. 

5 tens + 5 tens + 1 ten
= 11 tens

35 459.1 + 54 352.3 = 

Regroup the 11 tens into 
1 hundred and 1 ten.

Place the 1 ten the answer 
section and show the 

regrouped 1 hundred by 
placing a 1 under the 

hundreds column. 
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Building Blocks 1

Next, look at the next 
column with the lowest 

value. This is the hundreds 
column.

Add together the 
numbers, not forgetting 
the 1 hundred that was 

regrouped.

35 459.1 + 54 352.3 = 

4 hundreds + 3 hundreds 
+ 1 hundred = 8 hundreds

Write this in the answer 
section.
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Building Blocks 1

Next, look at the next 
column with the lowest 

value. This is the 
thousands column.

Add together the numbers. 

5 thousands + 
4 thousands = 9 thousands 

Write this in the answer 
section.

35 459.1 + 54 352.3 = 
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Building Blocks 1

Last, look at the
remaining column. This is 
the ten thousands column.

Add together the numbers. 

3 ten thousands + 
5 ten thousands = 
8 ten thousands

Write this in the answer 
section.

35 459.1 + 54 352.3 = 35 459.1 + 54 352.3 = 89 911.4

Lastly, check the answer.
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Lastly, check the answer.

Building Blocks 1
35 459.1 + 54 352.3 = 89 911.4

We can show this 
calculation using bar 

modelling.
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Building Blocks 1
Let’s try a different calculation.564.59 - 272.74 =

To calculate the answer,
I am going to use the

written method of
column subtraction.

First, place the digits into 
the correct column.
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Building Blocks 1

We start by subtracting 
from the column with the 
smallest value. This is the 

tenths column.

9 tenths – 4 tenths
= 5 tenths

Place the 4 tenths in the 
answer section. 

564.49 - 272.74 =
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Building Blocks 1

Next, look at the next 
column with the lowest 
value. This is the tenths 

column.

564.49 - 272.74 =

5 tenths – 7 tenths = 
This cannot be done as 5 is 

less than 7. We need to 
exchange 1 one from the 
ones column for 10 tenths 
and regrouped these into 
the tenths column. There 
are now 15 tenths in the 

tenths column and 3 ones 
in the ones column.

15 tenths – 7 tenths =
8 tenths

Place the answer in the 
answer section. 
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Building Blocks 1

Next, look at the next 
column with the lowest 
value. This is the ones 

column.

3 ones – 2 ones = 1 one 

Place the answer in the 
answer section. 

564.49 - 272.74 =
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Building Blocks 1

Next, look at the next 
column with the lowest 
value. This is the tens 

column.

564.49 - 272.74 =

6 tens – 7 tens =
This cannot be done as 6 is 

less than 7. We need to 
exchange 1 hundred from 

the hundreds column for 10 
tens and regrouped these 

into the tens column. There 
are now 16 tens in the tens 
column and 4 hundreds in 

the hundreds column. 

16 tens – 7 tens = 9 tens

Place the answer in the 
answer section. 
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Building Blocks 1

Last, look at the remaining 
column. This is the 
hundreds column. 

4 hundreds – 2 hundreds
= 2 hundreds

Place the answer in the 
answer section. 

564.49 - 272.74 =564.49 - 272.74 = 291.85
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Building Blocks 1

Last, look at the remaining 
column. This is the 
thousands column. 

4 thousands – 2 thousands 
= 2 thousands 

Place the answer in the 
answer section. 

564.49 - 272.74 = 291.85

We can show this 
calculation using bar 

modelling.
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Building Blocks 2
Can you find value of the block missing from these calculations?

592 459 + 824 569
= 1 417 028
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Building Blocks 2
Can you find value of the block missing from these calculations?

693 382 - 59 395
= 633 987
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Building Blocks 2
Can you find value of the block missing from these calculations?

929 288 - 592 494
= 336 794
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Building Blocks 2
Can you find value of the block missing from these calculations?

589 492.9 + 58 284
= 647 776.9
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Building Blocks 2
Can you find value of the block missing from these calculations?

39 897 + 93 395.3
= 139 292.3
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Pyramid Puzzles
Use your marvellous maths skills to complete these activity sheets:
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Hard Hieroglyphs 
Write a mathematical calculation using hieroglyphs that

would provide the answer 811.

hide hinthint
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Hard Hieroglyphs 
Write a mathematical calculation using hieroglyphs that

would provide the answer 1009.

hide hinthint
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Hard Hieroglyphs 
Write a mathematical calculation using hieroglyphs that

would provide the answer 889.

hide hinthint
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Hard Hieroglyphs 
Write a mathematical calculation using hieroglyphs that

would provide the answer 9909.

hide hinthint
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Success Criteria

Aim
• I can add and subtract numbers using a formal written method.

• I can add and subtract numbers with decimals.

• I can add and subtract increasingly larger numbers.

• I can use a formal written method.
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